Vector Space Definition

A vector space over a field F' is a set V together with two operations, vector addition and scalar
multiplication, satisfying the following properties:

1. Closure under addition: For all v, w eV, v4+w € V.
2. Associativity of addition: For all u,v,w € V, (u+v)+w=u+ (v+w).
Commutativity of addition: For all v, w e V, v4+w =w + v.

Existence of additive identity: There exists a vector 0 € V such that forallve V, v+0=v.
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Existence of additive inverse: For every v € V, there exists a vector —v € V such that
v+ (—v)=0.

Closure under scalar multiplication: For all v e V and a € F, av € V.
Distributivity of scalar sums: For allv € V and o, 8 € F, (a 4+ 8)v = av + fv.

Distributivity of vector sums: For all v,w € V and a € F, (v + w) = av + aw.
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Compatibility of scalar multiplication with field multiplication: For all v € V and «,f € F,
a(fv) = (ap)v.

10. Identity element of scalar multiplication: For allve V,1.-v =v.

Example

Let V = R3, the set of all real triples, and let F' = R. Define vector addition and scalar multiplication
component-wise:

u+v = (uy + vy, us + va,usz + v3)

av = (v, ave, avs)

where u = (u1, ug,us), v.= (v1,v2,v3), and a € R.

Subspace Definition

Let V' be a vector space over a field F'. A subset W of V is called a subspace of V if it satisfies the
following properties:

1. W contains the zero vector 0 of V.
2. W is closed under addition: For all v,w e W, v+w e W.

3. W is closed under scalar multiplication: For all « € Fand v e W, av € W.

Example

Consider the vector space V = R3 over the field R. Let W be the subset of V defined by W =

{(2,9,0) [ =,y € R}.
To show that W is a subspace of V', we need to verify the three properties:

1. The zero vector 0 = (0,0,0) is in W.

2. Let v = (21,y1,0) and w = (22, y2,0) be arbitrary vectors in W. Then v+w = (21 + 22, y1 +
y2,0) is also in .

3. Let @ € R and v = (z,y,0) be an arbitrary vector in W. Then av = (ax, ay,0) is also in W.

Since W satisfies all three properties, it is a subspace of V.



Example: Vector Space

Let V = R? be the vector space of all ordered pairs of real numbers with the usual operations of
vector addition and scalar multiplication.

Example 1

Consider the vectors u = (2,3) and v = (—1,5) in V. Determine if u and v span a subspace of V.

Solution

To check if the set {u, v} spans a subspace of V', we need to verify if it satisfies the three properties
of a subspace:

1. Closure under addition: For any u,v € V, u+ v must also be in V. Let’s check:
u+v= (273)+(_1v5) = (2_ 1a3+5) = (1a8)
Since (1,8) is in V, closure under addition holds.

2. Closure under scalar multiplication: For any scalar a and u € V', au must also be in V.
Let’s check with o = 2:
2u=2(2,3) = (4,6)

Since (4,6) is in V, closure under scalar multiplication holds.

3. Contains the zero vector: The zero vector in V is (0,0). Since 0 = (0,0) is not in the set
{u, v}, this set does not contain the zero vector.

Since the set {u, v} fails to contain the zero vector, it does not form a subspace of V.

Basis and Dimension Definitions

Basis Definition

Let V be a vector space over a field F. A subset B of V is called a basis for V if the following
conditions hold:

1. B spans V, i.e., every vector in V can be expressed as a linear combination of vectors in B.
2. B is linearly independent, i.e., no vector in B can be expressed as a linear combination of the
other vectors in B.
Dimension Definition

The dimension of a vector space V', denoted as dim(V'), is the number of vectors in any basis for V.

Example

Consider the vector space V = R? over the field R. Determine a basis for V' and find the dimension
of V.

Solution

To find a basis for V, we can start with the standard basis vectors:

e; = (1,0,0), ey =(0,1,0), es=(0,0,1)

We observe that any vector in R? can be written as a linear combination of these vectors. Thus,
{e1,eq,e3} spans V.

Next, we need to check if these vectors are linearly independent. Suppose we have a linear
combination of these vectors equal to the zero vector:



c1e1 + caes + czes = (0,0,0)

This equation leads to the system of equations:

0120
62:0
63:0

which has only the trivial solution. Therefore, {e1, e2,es} is linearly independent.
Since {e;, ez, e3} is both spanning and linearly independent, it forms a basis for V = R3. Thus,
the dimension of V' is 3.

Linear Transformations Definition

Let V and W be vector spaces over a field F'. A function T : V' — W is called a linear transformation
if it satisfies the following two properties:

1. Additivity: For all vi, vy € V, T(vy + va) = T(v1) + T(v2).
2. Homogeneity: For all ve V and a € F, T(av) = aT(v).

Example

Consider the vector spaces V = R? and W = R?, both over the field R. Define the transformation
T:V — W by T(v) = Av, where A is the matrix:

1 2
A= (5 3)
Is T a Linear Transformation?

Additivity

Let vi = (51) and vg = (?) be arbitrary vectors in V. Then,
1 2

T(V1 + V2) = A(V1 + V2)
T1 + X2
=A
(yl + y2>
. T1 + 221 + T2
— \3zy +4ze +y1 + 2y0
-(n)+ (2)
Y1 Y2
=T(v1) +T(v2)
Hence, T satisfies the additivity property.

Homogeneity

Let a € Rand v = <Z> be an arbitrary vector in V. Then,

T(av) = A(av)
_ 4 (am)
ay
[ ar+2ay
~ \3Baz + 4ay

()

=aT(v)



Thus, T satisfies the homogeneity property.
Since T satisfies both additivity and homogeneity, it is a linear transformation.

Range and Null Space of a Linear Transformation

Let T : V — W be a linear transformation between vector spaces V and W over a field F.

Range Definition

The range of T, denoted as range(T) or Im(T), is the set of all possible outputs of 7. It is defined
as:

range(T) = {T'(v) |ve V}

Null Space Definition

The null space of T', denoted as null(T") or ker(7T'), is the set of all vectors in V' that map to the zero
vector in W. It is defined as:

nll(T)={veV|T(v)=0}

Example

Consider the linear transformation T : R® — R? defined by the matrix:

1 2 1
A:<2 4 2)
Range of T

To find the range of T, we need to determine all possible outputs of T'. This is equivalent to finding
all possible linear combinations of the columns of A. Since the columns of A are linearly dependent,
the range of T will be a subspace of R? spanned by the column space of A.

range(T) =span (3. (7))

We can see that range(T') is the line in R? spanned by the vector <;)
Null Space of T

To find the null space of T, we need to find all vectors v € R? such that Av = 0. This can be done
by solving the homogeneous system Av = 0.

x
1 21 0
w0 — (7)) Z - (3)

The augmented matrix of this system is row equivalent to:
1 21 1] 0
000 | O

r+2y+2=0

Solving this system yields:

The solutions to this equation represent the null space of T'. It is a plane in R3.



Rank and Nullity Theorem

Let A be an m x n matrix over a field F.

Rank Definition

The rank of A, denoted as rank(A), is the maximum number of linearly independent rows or columns
of A. Equivalently, it is the dimension of the column space of A.

Nullity Definition

The nullity of A, denoted as nullity(A), is the dimension of the null space of A, i.e., the number of
free variables in the solution to the homogeneous system Ax = 0.

Rank-Nullity Theorem

The rank-nullity theorem states that for any matrix A:

rank(A) 4+ nullity(A) = n

where n is the number of columns of A.

Example

Consider the matrix:

Rank of A

To find the rank of A, we can perform row reduction:

1 21 . 1 21
2 4 2 000
We see that the second row is a multiple of the first row. So, rank(A) = 1.

Nullity of A

To find the nullity of A, we need to solve the homogeneous system Ax = 0:

12 1\ (%) /(o
2 4 2) Y]~ \o
z
This system has one free variable (e.g., we can choose x = t), so nullity(A) = 1.
Rank-Nullity Theorem

According to the rank-nullity theorem:

rank(A) 4+ nullity(A) =1+1=2

which is the number of columns of A.



